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1.        (A) GB  (B) KB  (C) MB  (D) Byte 

2. 11011   (A) 25  (B) 27  (C) 26  (D) 33 

3. (110)x = (56)10 X  (A) 5      (B) 6      (C) 7      (D) 8 

4.   (A) A•1=A    (B) A•0=0 (C) A+A=A (D) A+1=1 

5.  0011 0101 0110
(A) AND     (B) OR      (C) XOR  (D) NAND 

6.
(A) C++     (B) VB2008 (C) Delphi (D) Html 

7.
(A) Switch    (B) For  (C) While    (D) Repeat    

8. ”bug”
(A)   (B)   (C)   (D) 

9. 1+2+3+........+n
(A) O(n2)    (B) O(nlogn)   (C) O(n)    (D) O(1) 

10. n
(A) O(n2)       (B) O(n2logn)      (C) O(n )    (D) O(1) 

11. int data[40] sizeof(int) = 2 1500 data[30]
(A) 1560  (B) 1558  (C) 1556  (D) 1554 

12.   (A) Queue (B) Queen (C) Stake  (D) Stack 

13.   (A) Queue (B) Queen (C) Stake  (D) Stack 

14. A+B×C (infix)
(A) +A×BC      (B) A+B×C      (C) ABC×+      (D) +×ABC 

15. A+B×C (prefix)
(A) +A×BC      (B) A+B×C      (C) ABC×+      (D) +×ABC 

16. 300
(A)12  (B) 11  (C) 10  (D) 9 

17. (Pseudo Code) while
(A)   (B)   (C)   (D) 

18. Microsoft Windows
(A) Graph (B) Database (C) Tree  (D) Array 

19.
(A) WHILE…ENDWHILE (B) REPEAT…UNTIL      (C) FOR…ENDFOR      (D) LABEL…GOTO 

20. m×n ( )
(A)    (B)    (C)   (D) 
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21. int data[50] sizeof(int) = 4 data[11] 800 data[34]
(A) 844  (B) 846  (C) 888  (D) 892 

22. B n n B[i, j]=0, if i<j n=5 0( )
(A) 10     (B) 12     (C) 15     (D) 20 

23. (row major order) A(2,3) 1756 A(3,3) 1760 A(4,4)

(A) 1765     (B) 1766  (C) 1768   (D) 1770 

24. (Linked list)
(A)    (B) 
(C)        (D) 

25.
(A) O(log n) (B) O(1)  (C) O(n 2)  (D) O(n)

26. n m
(A) O(1)     (B) O(n)     (C) O(m)  (D) O(n+m)

27.
(A) (order list)  (B) 
(C)   (D) (pointer)

28. (list)
(A) 5      (B) 9   (C) 10   (D) 25

29. (postfix)  6 3 / 3 – 4 2 × + 
(A) 8     (B) 7      (C) 6      (D) 5 

30.
(A) 1  (B) 2  (C) 3  (D) 4 

31. (divide-and-conquer)    
(A)       (B)      (C)     (D) 

32. (infix) (A+B/C) × (D E×F) (prefix)
(A) ×+A/BC D×EF (B) ×/+ABC× DEF    (C) ×+A/BC×D EF (D) ×+ABC/ D×EF

33. A/B+D×E A×C
(A) AB/DE×+AC×  (B) AB/DE×AC+  (C) AB×/DE×+AC  (D) AB/+DE×+AC×

34. ×AB+CD A=3, B=7, C=4, D=2
(A) 9  (B) 13  (C) 15  (D) 19 

35. AVL ( )
(A) 0     (B) 1      (C) 2      (D) 3 

36.
(A) O(logn)   (B) AVL O(logn)
(C) O(logn)  (D) AVL

37. (binary search tree)
(A) (pre-order)    (B) (in-order)     (C) (post-order)     (D) 

38.
(A) heap sort    (B) quick sort     (C) merge sort     (D) radix sort 

39. 1,4,7,8,10,12,13,15,18,19,22,23,25,27,30 (binary search)

(A) 1     (B) 8      (C) 15      (D) 30 

40. 10
(A) 1023     (B) 1024     (C) 2047     (D) 2048 


